
T
ek

la
 S

tr
uc

tu
re

s

2451-CPR-EN1090-2014.0470.001

EXC2Execution class:

Fabrication and erection acc. to

Functional tolerance class: 1

NEN-EN 1090-2:2008+A1:2011

RcA17-10-18 AS BUILT AS BUILT04 AW
RcA28-08-18 Merknummers aangevuld VOOR UITVOERING03 EvH
RcA27-07-18 Merknummers handregels VOOR UITVOERING02 EvH
RcA11-06-18 Maatvoering gaten brugdek VOOR UITVOERING01 EvH
RcA06-04-18 VOOR UITVOERING VOOR UITVOERING00 EvH

revision date descriptiondrawn check status

General Notes:

S355J2

Materials U.N.O.:

Rolled sections

Plates Tp

Welded profiles

Hot rolled hollow sections

Cold formed hollow sections

25mm

NEN-EN 10025

NEN-EN 10025

NEN-EN 10025

NEN-EN 10210

NEN-EN 10219

S355J2+N

S355J2+N

S355J2H

S355J2H

100D

100D

S355J2H

S355J2H

D >100

D >100

Plates perpendicular entrusted to

the rolling direction due to tensile load NEN-EN 10164 Tp 30mm S355J2+N

Bolts U.N.O.:

M12x50 Standard: ISO 4014 - Class 8.8 - Hot Dip Galvanized - Oversized

Surface treatment:

T0 U.N.O. = RAL 7043, verkeersgrijs B

T1 = RAL 9002, grijswit

T2 = Natural grijs

T3 = RAL 9016, verkeerswit

T4 = RAL 7044, zijdegrijs (looppad)

T5 = Rood (fietspad)

T6 = Antraciet

Gemeente Amsterdam

175062 400

Val samenstelling
order drawing number

ASK Romein BV

Postbus 1013
4700 BA Roosendaal

Nederland

info@ask-romein.com+31 (0)165 750 300

title

project

client

Bongerdbrug
revision

04

drawing size

A0

C_no

B_hart

A_zw

LEVEL +3000
1:20

+3000

AXIS C_no
1:20

+3000

AXIS A_zw
1:20

Doorsnede B - B
1:15

Doorsnede A - A
1:15

Doorsnede C - C
1:15

Doorsnede D - D
1:15

201 xM x60
EN14399-10.9-

A A

HAKORIT
PL506*87M34

121 xM x40
10642-CS

201 xM x60
EN14399-10.9-

122 xM x50
4014-SLTD-HDG

122 xM x50
4014-SLTD-HDG

SHS80/8D7

202 xM x60
EN14399-10.9-

204 xM x80
EN14399-10.9-

202 xM x60
EN14399-10.9-

202 xM x60
EN14399-10.9-

202 xM x60
EN14399-10.9-

M147

202 xM x60
EN14399-10.9-

HAKORIT
PL506*87M34

201 xM x60
EN14399-10.9-

201 xM x60
EN14399-10.9-

122 xM x50
4014-SLTD-HDG

122 xM x50
4014-SLTD-HDG

SHS80/8D8

204 xM x80
EN14399-10.9-

202 xM x60
EN14399-10.9-

202 xM x60
EN14399-10.9-

HAKORIT
PL910*87M33

202 xM x60
EN14399-10.9-

202 xM x60
EN14399-10.9-

81 xM x80 CHS51/4B5
202 xM x60

EN14399-10.9-

34
9

202 xM x60
EN14399-10.9-

34
8

34
9

34
9

34
9

34
9

36
9

34
9

max.975M10*50-8.8 thvz ISO

carrosseriering aan onderzijde variabel

34
8

34
9

34
8

81 xM x80 CHS51/4B5
202 xM x60

EN14399-10.9-

202 xM x60
EN14399-10.9-

202 xM x60
EN14399-10.9-

122 xM x40
10642-CS

121 xM x40
10642-CS

121 xM x40
10642-CS

123 xM x40
10642-CS

HAKORIT
PL910*87M33

T1
PL3*758.8M73

T1
PL3*751.8M60

T1
PL3*758.8M161

T1
PL3*650.9M165

SHS80/8D8

T1
PL3*270M167

201 xM x60
EN14399-10.9-

201 xM x60
EN14399-10.9-

124 xM x40
10642-CS

122 xM x40
10642-CS

121 xM x40
10642-CS

T1
PL10*484M169

T3
D34D3

T1
PL3*751.8M60

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

T1-TP2
CHS33.7/5B56

RVS
RHS120/60/4D10

201 xM x60
EN14399-10.9-

201 xM x60
EN14399-10.9-

T1
PL3*758.8M159

T1-TP2
PL15*318.4M3

T1-TP2
PL15*318.4M3

204 xM x80
EN14399-10.9-

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

T2
KUNSTSTOF

Ø73*14D1

T3
D34D3

T3
D34D3

T1-TP2
CHS33.7/5B57

T2
RVS-AISI-316

Ø73*3B65

T1
PL3*751.8M47

T1
PL3*758.8M73

T2
KUNSTSTOF

Ø73*14D1

T3
D34D3

T2
RVS-AISI-316

Ø73*3B64

T3
D34D3

T3
D34D3

T1
PL3*758.8M43

T1
PL3*758.8M73

T1
PL3*751.8M60

B

B

T3
D34D3

T3
D34D3

T3
D34D3

T1
PL3*758.8M142

T1
PL3*751.8M60

T2
KUNSTSTOF

Ø73*14D1

T2
RVS-AISI-316

Ø73*3B66

T1-TP2
CHS33.7/5B63

T1
PL3*758.8M73

T1
PL3*751.8M60

C

C

T1
PL3*751.8M60

T1
PL3*250M93

T1
PL3*250M59

T1
PL10*514.3M115

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

RVS
RHS120/60/4D12

T1-TP2
CHS33.7/5B33

T2
RVS-AISI-316

Ø73*3B67

T1
PL3*758.8M73

T1
PL3*751.8M60

T1
PL3*650.9M52

T1
PL3*758.8M74

D

D

T1
PL3*270M54

T1
PL10*484M112

SHS80/8D7

T1
PL3*758.8M168

T1
PL3*751.8M60

T1
PL3*150M163

T1-TP2
PL15*318.4M3

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

201 xM x60
EN14399-10.9-

201 xM x60
EN14399-10.9-

T1
PL3*758.8M190

T1-TP2
PL15*318.4M3

204 xM x80
EN14399-10.9-

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

RVS
RHS120/60/4D9

T2
KUNSTSTOF

Ø73*14D1

T3
D34D3

T3
D34D3

T3
D34D3

T2
RVS-AISI-316

Ø73*3B18

T2
RVS-AISI-316

Ø73*3B58

T1-TP2
CHS33.7/5B55

T1-TP2
CHS33.7/5B50

T1
PL3*758.8M73

T1
PL3*751.8M45

T2
KUNSTSTOF

Ø73*14D1

T3
D34D3

T3
D34D3

T3
D34D3

T1
PL3*751.8M60

T3
D34D3

T3
D34D3

T3
D34D3

T1
PL3*758.8M141

T1
PL3*751.8M60

T2
KUNSTSTOF

Ø73*14D1

T1-TP2
CHS33.7/5B62

T2
RVS-AISI-316

Ø73*3B61

T1
PL3*758.8M73

T1
PL3*751.8M60

T1
PL3*758.8M73

204 xM x45
EN14399-10.9-

T1
PL3*758.8M41

T1
PL3*751.8M60

T1
PL3*250M58

T1
PL3*250M92

T1
PL10*514.3M114

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS

81 xM x20
10642-SLTD-SS81 xM x20

10642-SLTD-SS

RVS
RHS120/60/4D11

T2
RVS-AISI-316

Ø73*3B20

T1-TP2
CHS33.7/5B32

T1  - L50/5 H6

T1  - L50/5 H5

2*M12*50

4014-8.8-HDG

1*M12*50

4014-8.8-HDG

1*M12*50

4014-8.8-HDG

1*M12*50

4014-8.8-HDG

1*M12*50

4014-8.8-HDG

3*M6*20

VERZ 10642-8.8-EG

202 xM x60
EN14399-10.9-

Tapgaten na samenstellen aanbrengen

Gaten nabewerken

Gaten nabewerken

13
88

63 xM x20
10642-CS-BOLT

121 xM x40
10642-CS

202 xM x60
EN14399-10.9-

OPLEGBLOK

OB8 PL4*140

123 xM x40
10642-CS

204 xM x45
EN14399-10.9-

122 xM x40
10642-CS

121 xM x40
10642-CS

T1
PL10*484M112

63 xM x20
10642-CS-BOLT

201 xM x60
EN14399-10.9-

201 xM x60
EN14399-10.9-

124 xM x40
10642-CS

121 xM x40
10642-CS

122 xM x40
10642-CS

121 xM x40
10642-CS


